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# coding: Windows-31J

y Y= =, =% P 1.70,60,83
ZH 7 7=-/7 /= AR E2:43:49:76}:
Vadayl — 3 =] K [3,59,79,43],
55 _l_ —_ IEI %ﬁ E ﬁ:ﬁ LE IEI = , [4,67,74,83], Z:¥Ruby>ruby sample.rb
U EiE OF = 59
sEE e EE] I
name= ['EIE" THEC, RIE] Empng e g
. 3.times{ |i| HEE DOFHA T
R A sum=0 .
g = p.length.times{ |j|
Bt A sum += p[j ][ 1+1]
}
ave = sum/ p.length
print( name[i], " DFEHR ",
ave, "¥n")

I3 =] sd=]
ff‘ﬁ E Fliﬁ é@ (0..p.length-1).each |i|
sum =0
# coding: Windows-31J (1..plil.length-1).each{ j|
p=[ sum += ( p[il[i] - aveli] ) * ( p[il{il - avei] )
[1,70,60,83], } FHEDEDZEM
[2,43,49,76], sd[i]=Math.sqrt( sum / ( p[i].length-2))
[3,59,79,43], }
[4,67,74,83]
1 (0..p.length-1).each{ |i|
puts( "HFEEE #plil0]} DADFH AT #Havell]}, FH#RZE
ave =[] 1 #sd[i}TT™")
(0..p.length-1).each({ |i| }
sum = 0 | EeERDS
(1..plil length-1).each{ Z:¥Ruby>ruby sample.rb
+= plilli . .
sum += plilt HEES 1 OADTFEYH , E#RE (L 11.5325625946708 T
aveli] = sum / ( p[il.length-1) , {RE (3 17.5783958312469TY
} HEES 3 DADTY , ARZE(RZE(T 18.0277563773199TF
HEES 4 DADFEHAEG 74, FERZEL 8.06225774829855TF
3

REREQ REMED

# coding: Windows-31J
star = "
min_x=0 .
11 times{ x| min_y =0 Z.{Ruby>§ample.rb _
11.times{ |y| min =6 XH1.5 yhi-2.0D B, Fx/MEIX-14.5
i - J— —_ (-20..20).each{ |y|
if(y==0 ory== 10 )or (x==y)then (20..20) each{ x|
print( star ) xx=x/10.0
else vy =y/10.0
print("") - Z=2 XX XX-4Fyy Yy +3 xx*yy +6
} end if min > z then
ok myn min=z
print( "¥n") min_x = xx
} min_y = yy
end
}
}
print( "xA™ , min_x, " yA%" , min_y , "O#, &/MEIX", min, "¥n")




REMEG

a=[3,14,15,9,26,5,35,8,9,7,9,3,2,3]
pa
(0..a.length-1).each{ |i|
(a.length-2).downto(i) { |j|
ifa[j+11% 2==0and a[j] % 2 != 0 then

w = a[j]
afil=afi+1]
aff+1]=w
end Z:¥Ruby>ruby sam
} [3,1,4,1,5,9,2,
} 4,2,6,8,2 3,1,
pa
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